


TECHNICAL INFORMATION OF

BRAKE MOTOR

S2LECTROD MAGRETIO

mEY m FXAE

® MG Hate &t A7} BRAKE MOTORS] F+-32% 138 -13} 24Ut}

Ake] BRAKE MOTOR: —‘jrow Hedl o 24 COIL

® Loz Ae s o] Wz} BRAKES| P& A 9o] OFFE 9] #to] A EHel 2w ARMAILMJ}
o #|Fge] 2hg-5to] A EHA K81 -4k, A SPRING®] 8¢ % BRAKE LININGE F24 H&=
AA 2 G A F, AAZE ARG R, 7] A1) 'fﬂl%?ﬂﬂ Al 3 MOTORE ZJKVJEH(%%%HDE
HH4] 5 QHABRAKEZH #3455 w3 st A= U o),

® ChA| ko] A8l Ml gk A o o) 7 EUTh

® OVER- RIDE(H9$
)7 MOTOR J 41
"1?1”71011 YA 7} 7V gt
320]4 :woﬁoko* 13-7te] 73]0]7d 1003] 2] 4
2718 @ 8hefj+= CLUTCH & BRAKE MOTORE A}
2314 A 2.

=

® VOTORS} BRAKES 59U @90 i Alg/4 %}
BRAKE® oﬂ 95322 UAsta 9o 2MOTOR
g}zno 79 0 7 AFg-82= o)) oF 380~ 440V
j ()T()Roﬂ =2 BRAKES 7Feb ob7) & Al4-3)
of ghc}.

[ -
/—SPRINE
N Z 1
==
—_— 1
D =<
a@= l\ e [T [~~MAGNET
S oo L L | _ N |
]
i
p =
1 2 ﬂ
= \
———— ya
\—IRAKE LM&‘RMTM

[aE1]

LOI o At ¢17}ebw SPRINGE] 815 o]7] 1
ARMATURE?Z} &¢l5¢] ARMAT thﬁ} BRAKE
LININGAFe] o] Fo] A7 Awgo] AL zH
MOTORE A5 iO] Mﬁ? A BTk oAl COIL
Asto] apekEH COILY F9lgo] ¢lojz 12 MOTOR
= AR limni-ﬂ Yo},

m 7| F N

1. 5-a} 270 u}& MOTORS] &8 (e gehH S A
Aghc,

2. ®8e] IgRet2E MOTORY 75+ Hit

oo

- i )& MOTOR% O 2 83k )
GD*l| % 3% JMOIO}\ ARehr

m X} BRAKE MOTORZ®2] HE*d .
A2} BRAKEH- MOTORel EAl = 7145A17E AR A
7t, OVER-RIDES9] S4o] glon pi Hglo
GDol) o TS ”P~L1L}
A2} BRAKES] 5418 #9381 gclogH
1) MOTOR®] H++ 71 TORQUE

2) BRAKE TORQUE?] #3#4]
3) -3l TORQUES} -8} GDY’

T, AAANNE Y
= 1Al whet T

o3e] A7
A B

B FoE 8y

JeAE 7] EA
ol GIyi= <12
L

® TX} BRAKE MOTOR®] 394

L 7IEEAZL

MOTOR®] 7} 7+ MOTORS] #H37H: TORQUE
FHE o3 Zo] ek



_ GDv*+GDr? o n
37500 Ta—T
okt L 7FE5 A TH(sec)
Ta . MOTOR2] #H++712: TORQUE (kg - cm)
T : $-3F TORQUE (kg - em)

GDv* @ ROTOR?] G (kg - em?)
GDt o HEhe] GDF (ke - end)
n : MOTORE] 3] 445 (rpm)

23RNk
A7} BRAKE® MOTORS] A A7 2128} o]
10

AIR GAPe] 612,22 7|91|7ko] 7] 4511 MOTOR
o] BN T A0 P,

[

o

tl\ = ta + th!
e GDv+GD* . n
37500 Tis
v : MOTOR®] =] A1 (sec)
ta : ARMATURES] &¢14)71

(MOTORS} ¥ % SWITCH 4

°F 0,02%, 3% SWITCIHEA 2+ 0.1%)
o0 AEAIRE
T MOTOR2| BRAKE TORQUE (kg - cm)

® ¥S SWITCHEMY 3 FSWITCHSA!

ZAA} BRAKES] Al glo] SWITCHS] 9] 4] wehy
A A7k z2pol7F AU FESWITCHE A o2 3}
9 MOTOR COIL¥ BRAKE COIL®] # LOOP7} & o]
SWITCHE #o|%= MOTORS #&F2717} BRAKE
COILSl 9d3kS Fo] ARMARURE?] Aluto] zojx] a1
wpebr] AZ AR dojHutt AR S BFAE I
27t Qo ¥r SWITCHW o2 §4A Q.53

REVERSIBLE MOTORZ 4 - o&d& Fuje= HI=
Al B SWITCH] 0 2 gtAjof gt

O MOTOR2X E0ll= CONDENSER A4HHAIALO| Fi=
CONDENSERZI H1&%|= MOTOR COILOI| &#H
ool of pHjjo| =2 Fto| LMD 2 BRAKES
MOTOR COILZ HE 2 H£351H CW/CCWRE =t
SWITCHS| L §HRIX|0ll A= BRAKEO & 40|
4 BRAKEL E &/ 7(0| &&= &Lt

o YT Yol
BRAKEFoI& 45712 vpgaka 9100 e
100V = 200VSIUITE B ASE 5 i3l

713 A7 ukgh,

=1
BEZEM ()
COW<, .ocw
1
cow
i _gBlack
ohed MOTOR
& B8rown
Qrange
o eMe T
50range BRAKE
[
CONDENSER
HZZEMEY)
< oow
Ro Co I
S4tofog—oie - MOTOR |
T ' Black !
Ro| Co |
. I Orange i
: © BR 1
STW:_/‘ BRAKE |

Ro Co

ZI0|ZM (ZESWITCHQEHAY)

cew, .oCw

Black

CCwW
sw2 ©

Red

A=
& Brown

OOrange

SWi_ ON
o &
Mt

TR
I o (L Orange BRAKE
Ro Co =

CONDENSER

25t ZA
cowe,_oew
CCW
A . UBlack
| Red
3 ! © MOTOR
~ ‘ = Brown
| A=
LSW‘ oN| | Orange
7 © e
R Co L glrange | BRAKE |

CONDENSER




BRAKE MOTORY L2FEFHHI
1.

0o

G

1,

& S0y

WV 100
Pe=%12 7 W
W bz (keb)
y 2 (m/min)

Pg = 1.027NT (W)

— GD! N )
I= 175 t (kgl - m)

N : 345 (rpm)

T : torque(kgf - m)

G’ ¥Hdmoment (kgf - m%)
t : Al7k(sec)

BELT CONVEYOR
106, .
Pg= (Pi+P:+P)  — = (W)
FEEREE Pro= 9.8mwvl (W)
rQU

=3 I A N
Thom b 367 W
] |
SAEH p=+ ?6/ (W)

( :conveyor?] Ao](m)

w - belt] Zold Fak (kef/m)
g epEAS

v belt? -}'—‘” (m/sec)

Q e h:,r/h)

7 EHE%)

H :conveyor%Fete] #=0] &} (m)

EA o] 50l F

_ KWV 9
£ 12 W
w o (ke
v 25 (m/min)

gt R

® MOTORS} #d& ot
MOTORE: ¥H4%-512 544 Zuje
do G’ de _ 2r G’ dn

Ho

T=Ja=1] - =<, 22, a4
dt 4eg dt 60 4o dt
J ¢ ¥ moment
@ o 2R
t @ AR
n o AET
GD* ¢ fly—wheel & HGD*=4g])
g FYEE
a - 7R

285 7]2] TORQUEY: 3 d& el we) ¥lgksiH,
A%E O REE] AT O]:,[LHH]/{] o) WA S Ht
7 TORQUEZ o}o% MOTORS] 4 & TORQUEA A
A ST,

= AR 7} GD (ke - en) ) %E}‘ t(sec) A}Olﬂl
(rpm) 7}4] 71541 wf —:i&%dr 2= TORGUE ‘I
G AR

37500 ¢ e

g

m 2512] 3-§GD’

BRAKEE AF43=74 % 239 GD7} GEARY
BRAKE®?] =] £ 3] %%E_J IoTORoﬂ 54
25 TORQUE 7+ A Ut HEAS 239814

ki )4

MOTOR TYPE PHASE| = lgﬂ)(igﬂ?n?QUE ne
™| sz eonz | K9-om)
RHK6PF6 | 1 | 6 06 | 06 05
RHK7PF15 | 1 | 15 | 12 | 11 05
RHK8PF25 | 1 |25 24 22 | 05

CRHKOPF40 | 1 | 40 44 | 42 | 16
CRHK9PGGO | 1 | 60 | 65 | 63 26
RHKOPGOO | 1 |90 87 | 82 26
HKOPF40 | 3 | 40| 68 | 52 | 16
IHKoPG60 | 3 | 60 | 105 | 7.8 26

IHK9PG90 | 3 | 90 | 145 | 108 26




OFF BRAKE
REVERSIBLE MIOTOR

6/15w gﬁﬁ% 1PHASE

BPERFORMANCE DATA (DUTY : 30 Min.)

RATING STARTING BRAKE CONDENSER
MOTOR TYPE OU&VP)UT VOL(\T/?GE F{T_E)Q' CURRENT) TORQUE| SPEED CURRENTITORQUE| INPUT [BHETOREl ) |
(mA) | (gf-cm)| (rpm) | (mA) | (gf-cm)| (W) | (gf - cm)

50 | 300 | 500 | 1200 | 400 | 500

! 14100 6 | 2000 | 250 | 40
RHKGPFE-10 | g ¢ 60 | 300 | 400 | 1500 | 400 | 500

RHK6PF6-11 16110 | 60 | 300 | 400 | 1500 | 400 | 500 | 6 | 2000 | 250 | 35
50 | 160 | 500 | 1200 | 200 | 500

2 4 1.

RHKGPF6-20 6 19200 1«0 | 160 | 400 | 1500 | 200 | 500 | °© 000 | 450 0

RHK6PF6-22 14220 | 60 | 160 | 400 | 1500 | 200 | 500 | 6 | 2000 | 450 | 1.0

RHK6PF6U | 6 | 14115 | 60 | 160 | 400 | 1500 | 200 | 500 | 6 | 2000 | 450 | 35
15220 | 50 | 160 | 500 | 1200 | 200 | 500

RHKGPF6-2C | 6 | 4 o0 | 50 | 160 | 550 | 1200 | 200 | 550 | © | 2000 | 450 | 08
50 | 450 | 1150 | 1200 | 650 | 720

! 14100 6 | 2000 | 250 | 6.0
RHK7PF1510 | 45 ‘ 60 | 450 | 950 | 1500 | 650 | 720

RHK7PF15-11 14110 | 60 | 450 | 950 | 1500 | 650 | 720 | 6 | 2000 | 250 | 5.0
50 | 230 | 1150 | 1200 | 230 | 720

RHKTPFIS20 | (o | 16200 | 20 | 000 o) | B 20 | o0 e 2000 | 450 | 15

RHK7PF15-22 14220 | 60 | 230 | 950 | 1500 | 230 | 720 | 6 | 2000 | 450 | 1.2

RHKTPFI51U| 15 | 14115 | 60 | 230 | 950 | 1500 | 230 | 720 | 6 | 2000 | 450 | 5.0
1220 | 50 | 230 | 1050 | 1200 | 620 | 620

RHKTPFIS2C | 15 | 16220 1 20 | D00 | 1120 | 1200 | 620 | eso | O | 2000 | 450 | 12

- MOTOR TYPE-2> GEAR HEADIE #5191 PINION#i#h ©. 2 Z/~8F 55Ut
STRAIGHT##H2] MOTORE 77 #8tAIH A4 2] PFE SE vHo] {138 A L.

- [ ] #0588 MOTORE UL X1= CEB4-S i1 3F IPIMPRDANCE PROTECT, RHK6PF6)
== TP(THERMAL PROTECT, RHK7PF15) TYPEY Yt}

- CONDENSER?] #ME2 PAGE F—12 24314 A <.

- For motor with straight shaft, please write S in place of PF in MOTOR TYPE.

- MOTOR TYPE in gray screen represents the motors with IMPEDANCE PROTECTION(RHKEPF6)
or THERMAL PROTECTION(RHK7PF15) according to UL or CE regulation.

- For outline dimension of condenser, refer to Page F-1.

B RATED TORQUE OF GEARED MOTOR
i} 72] REVERSIBLE MOTOR ¢} 254 th,

- Refer to the rated torque of reversible motor


김영석
사각형


HEWIRING DIAGRAM

STANDARD({E5ISWITCHING)

cow, ocew
_- ccw ® Black
§ 3 oRed | MOTOR
O,I(CON ©Brown
Sw1! oN
;—«cj oorange p——
~0Orange BRAKE
Ro Co ~

CONDENSER

BOUTLINE DIMENSION
Fig.1 GEARED MOTOR

RHK6PF6 + 6HJFM (6HCIFB)
WT MOTOR 1.2 kg GEAR 0.4kg

10

&)

@ & |

98 g0

I
|

L& 4945
A
2.5

61 32

FEEE T

40 120

L, A d, 8, BOLT

TYPE | 30k L

L|AJdER o T

mm \mm | mm | Kg

6Ho FM| 1/3~1/18

30 | 3 |20 |0.3|M4x50

6H o FB | 1/25~1/180

40 | 3 |20 |0.4|M4x60

OPTIONAL (5 5 [E158)
cew_.oew
ccw
swa 8 oBlack
é S ofed__ MOTOR
OBrown
Swi_ ON &0range
RIE a =
~0range BRAKE
Ro Co ~

CONDENSER

RHK7PF15 + 7HCIFM (7HCJFB)

WT MOTOR 1.4 kg

GEAR 0.5

,,,,,,,

#10-doz

L& 4-95.5
22.5
70

Motor Leacdd 300mm \

Sl +<L6'5 % Brake Loadd! 300mm__/

35 L 123

L, #&, BOLT

TYPE | i bt

mm|  Kg

BOLT

7HoO FM| 1/3~1/18
7H o FB [1/25~1/180

30| 05 |M5x60
40| 0.6 |M5x70

KEY SIZE

25 430

+0.06
+0.01

| 4 Tl
m

2.518"



OFF BRAKE
REVERSIBLE MIOTOR

25/40w RHK iiase

BPERFORMANCE DATA (DUTY : 30 Min.)

OUTPUT| VOLTAGE | FREQ. RATING STARTING BRAKE CONDENSER

MOTOR TYPE CURRENT| TORQUE | SPEED |CURRENT| TORQUE| INPUT | BRAKE TORQUE

(mA) | (gf-om)| (pm) | (mA) |(gf-om)| (W) |(gf-om)| ) | P

50 650 | 1800 | 1300 | 1250 | 1280
£ 14100
RHKBPF2510 | o5 60 650 | 1370 | 1600 | 1200 | 1280

(W) V) (Hz)

6 2000 | 250 | 10.0

RHK8PF25-11 14110 60 650 | 1370 | 1600 | 1200 | 1280 6 2000 | 250 8.0

50 | 330 | 1800 | 1300 | 600 | 1280
. 142 10 | 2000 | 450 | 25
RHK8PF25-20 | o5 9200 | oo | 330 | 1370 | 1600 | 600 | 1280

RHK8PF25-22 14220 60 330 | 1370 | 1600 | 600 | 1280 6 2000 | 450 2.0

RHK8PF25-1U 25 14115 60 330 | 1370 | 1600 | 600 | 1280 6 2000 | 450 8.0

15220 | 50 | 320 | 1800 | 1300 | 600 | 1280
RHKBPF252C | 25 | 4 ot | 50 | 320 | 2000 | 1300 | 600 | 1280 | © | 2000 | 450 | 20

14100 50 | 1150 | 3200 | 1200 | 1850 | 2600
RHK9PF40-1 40 60 | 1150 | 2600 | 1500 | 1800 | 2600

10 1000 | 250 | 16.0

14110 60 1150 | 2600 | 1500 | 1800 | 2600 10 1000 | 250 | 12.0

50 | 600 | 3200 | 1200 | 1000 | 2600
RuKkoPFas2 | 40 | 72 | 6o | g00 | 2600 | 1500 | 1000 | 2600 | 'O | 1000 | 450 | 40

14220 60 600 | 2600 | 1500 | 1000 | 2600 10 1000 | 450 3.5

RHK9PF40-1U 40 14115 60 600 | 2600 | 1500 | 1000 | 2600 10 1000 | 450 12.0

14220 50 600 | 3200 | 1200 | 1000 | 2600

16240 | 50 | 600 | 3400 | 1200 | 1000 | 2800 | 'O | 1000 | 450 | 35

RHK9PF40-2C 40

- MOTOR TYPE-> GEAR HEAD Ta##%/<Q! PINION#i#h © 2 £/Rak3i 5 th

STRAIGHT##H2] MOTORE A2stAIH A4 8] PFE S&E ulo] {8 Al 2.
- [ 15578 MOTORE UL & CEBUS-S 3 s TP(THERMAL PROTECT) Wiz Y.
- CONDENSER?] #ME2 PAGE F—12 218314 A <.

- For motor with straight shaft, please write S in place of PF in MOTOR TYPE.

- MOTOR TYPE in gray screen represents the motor with THERMAL PROTECTION
according to UL or CE regulation.

- For outline dimension of condenser, refer to page F-1.

B RATED TORQUE OF GEARED MOTOR

[i]— J7¢] REVERSIBLE MOTOR $} 251t}

- Refer to the rated torque of reversible motor


김영석
사각형


HEWIRING DIAGRAM

STANDARD({E5ISWITCHING)

ceW<_ocw

ofed MOTOR

Swe cow © Black
(l  ON OBrown
swil oN
io,_T orange
Ro Co

B
OOrange BRAKE

CONDENSER

BOUTLINE DIMENSION
Fig.1 GEARED MOTOR

RHK8PF25 + 8HJFM (8HJFB)
WT MOTOR 1.7 kg GEAR 0.5/0.6kg

834

#10_02

4-95.5

d

Motor Lead300mm
5 6.5 &% Brako Loadd 300mm

35 L 128

L, fi, BOLT
TYPE | st | - | ™ | goLT
mm Kg
8HOFM| 1/3-1/18 | 32| 05 |M5x60
8H o FB [1/25~1/180| 42 | 0.3 |M5x70
KEY SIZE
25 ‘*i:g.qs 41820%7

2.5

OPTIONAL(f§ 5 [E11%)
cew_oew
ccw
swe 6. oBlack
§ S oRed___| MOTOR
OBrown :
SW1_ ON Orange
R B ww
~0Orange BRAKE
Ro Co ~

[ |conbensen

RHK9PF40 + 9HJFM (9HLIFB)
WT MOTOR 2.6kg GEAR 0.8/0.9kg

ORENC = I
@ Dl e | TE= 8
- 8 4
o ‘ 8 —
b ® ]
L& 4-96.5 ot Loog S00mm >
T 501 _||65 _umewelessssoomn
90 35 L 151

L, i, BOLT

L) EE o T
mm Kg

9HOFM| 1/3~1/18 | 42| 0.8 |M6X70
9H o FB |1/25~1/180| 60 | 0.9 |M6X90

TYPE | Jski Lt

KEY SIZE

N
[e)]
3
— s
:
02
—
:
R
3
28

2.5831




OFF BRAKE
REVERSIBLE MIOTOR

60/90w ﬂﬁbﬁﬁ% 1PHASE

BPERFORMANCE DATA (DUTY : 30 Min.)

RATING STARTING BRAKE CONDENSER
MOTOR TYPE OU&VP)UT VOL(\T;\GE F{T_E)Q' CURRENT|TORQUE| SPEED [CURRENT|TORQUE | INPUT [ETROE| -
(mA) | (gf-cm) | (rpm) | (mA) | (gf-cm)| (W) |(gf-com) (£F)

50 1800 | 4500 | 1300 | 3000 | 3500
60 1800 | 3800 | 1550 | 3000 | 3500

RHK9PG60-10 | ¢ 14100 10 1000 | 250 | 25.0

RHK9PG60-11 1110 | 60 | 1800 | 3800 | 1550 | 3000 | 3500 | 10 | 1000 | 250 | 20.0
50 | 900 | 4500 | 1300 | 1500 | 3500
- 10 | 1 4 :
RHK9PGEO20 | o | 17200 | &9 | 900 | 3800 | 1550 | 1500 | 3500 | 0 | 1000 | 450 ] 60
RHK9PG60-22 19220 | 60 | 900 | 3800 | 1550 | 1500 | 3500 | 10 | 1000 | 450 | 5.0

RHK9PG60-1U 60 14115 60 900 | 3800 | 1550 | 1500 | 3500 10 1000 | 450 | 20.5
14220 50 900 | 4500 | 1300 | 3000 | 3500

RHKOPG602C | 60 | 4 ios0 | 50 | 900 | 4800 | 1300 | 3000 | 3800 | 10 | 1000 | 450 | 5.0

RHKSPGS0.10 14100 | 50 | 2000 | 6800 [ 1300 | 3300 | 6300
- 90 60 | 2100 | 5600 | 1550 | 3300 | 5900
RHK9PG90-11 14110 | 60 | 2000 | 5600 | 1550 | 3300 | 5900 | 10 | 1000 | 250 | 25.0
50 | 1000 | 6800 | 1300 | 1700 | 6000

RHKOPG90-20 | g9 | 19200 | 0 | 4000 | 5600 | 1550 | 1700 | 5900 | 10 | 1000 | 480 | 7.0
RHK9PG90-22 14220 | 60 | 1000 | 5600 | 1550 | 1700 | 5900 | 10 | 1000 | 450 | 6.0
RHKOPGOIU | 90 | 14115 | 60 | 1000 | 5600 | 1550 | 1700 | 5900 | 10 | 1000 | 450 | 205
14220 | 50 | 1000 | 6800 | 1300 | 3300 | 6300

RHK9PGOC | 90 | . 500 | 50 | 1000 | 7000 | 1300 | 3300 | 6800

10 1000 | 250 | 30.0

10 1000 | 450 6.0

- MOTOR TYPE=> GEAR HEADIA#5H Q] PINION# i ©. 2 2835t

STRAIGHTHifi2] MOTORE 7 88hA W 41 8] PFE S& vlAFo] {1 3sH Al L.
- [ ]7r% MOTOR:= UL B4 CEBUS il st TP(THERMAL PROTECT) Wi/Zi Ut
- CONDENSER?] #ME2 PAGE F—12 24314 A <.

- For motor with straight shaft, please write S in place of PF in MOTOR TYPE.

- MOTOR TYPE in gray screen represents the motor with THERMAL PROTECTION
according to UL or CE regulation.

- For outline dimension of condenser, refer to page F-1.

B RATED TORQUE OF GEARED MOTOR
[i]—72] REVERSIBLE MOTOR ¢} 25U th,

- Refer to the rated torque of reversible motor


김영석
사각형


HEWIRING DIAGRAM

STANDARD OPTIONAL
(fBZISWITCHING) COWC_oCW (5 E5) CoWS, ew
swa CgW o Black w2 ng © Black
(,\5 3 ofed_— MOTOR é\/p:‘w\&w ofed | MOTOR
o o ON OBrown ~ Brown
| &7
C'j Co Orangge BE&E C'—T co O::Z: BgﬁE
Ro Co Ro Co S
CONDENSER CONDENSER
HOUTLINE DIMENSION
Fig.1 GEARED MOTOR
RHKOPG60 + 9HLIGB  WT MOTOR 3.4 kg GEAR 1.5kg
9HJIGB BOLT
25 1
':__-]_:, - TYPE | BOLT
Ik N 9HLIGB M6 X 95
p I I OHLGB-F | M6x25
s —
v i KEY SIZE
4-96.5 Motor Leaddd 300mm \
721 $Jﬁ 3 Brake Loadtd 300mm / ) 25 5805
90 38 65 166 ‘ ‘ |
9HIIGB-F ] L]
4 |
8 =] @

38 65

RHK9PG90 + 9H[ IGB  WT MOTOR 3.5 kg GEAR 1.5kg

9HLIGB I_L
25, | =
=113 N O
s
E e ——f-e-— 8
0
)Y
4-96.5 Motor Lead4d 300mm
AN 6.5 % Brake Leaddd 300mm,
38 65 183
25
NE— §— | =
2] 3
s

60
90

38 65

|co

0.1
355




OFF BRAKE

INDUCTION MOTOR rpe”
40/60/90w SPHASE

m PERFORMANCE DATA (DUTY : CONTINUOUS)

RATING STARTING BRAKE CONDENSER
MOTOR TYPE OU&VP)UT VO'E\T;\GE F(Ff_lEZ())' CURRENT|TORQUE| SPEED [CURRENT|TORQUE | INPUT [WETROE| -
(mA) | (gf-cm) | (rpm) | (mA) | (gf-cm)| (W) |(gf-cm) (1F)

50 400 | 3000 | 1300 | 1100 | 6500

IHKSPFAO-30 | 40 1 39200 | 65 | 400 | 2600 | 1550 | 1100 | 5000

10 | 10000

i 50 370 | 3000 | 1300 | 1200 | 6500
IHK9PF40-32 40 34220 60 370 | 2600 | 1550 | 1200 | 5000 10 | 10000

50 220 | 3000 | 1300 | 1200 | 6500 | 44 | 10000

IHK9PF40-33 | 30380 | 60 | 200 | 2600 | 1550 | 1200 | 5000

50 200 | 3000 | 1300 | 1200 | 6500 10 | 10000

IHKOPFAO3C | 40 | 30415 | &) | 500 | 2600 | 1550 | 1200 | 5000

50 190 | 3000 | 1300 | 1200 | 6500
60 190 | 2600 | 1550 | 1200 | 5000 10 | 10000

50 600 | 4500 | 1300 | 1400 | 6000
IHK9PG60-30 60 36200 60 600 | 3800 | 1600 | 1400 | 5000 10 | 10000

IHK9PF40-34 36440

i 50 550 | 4500 | 1300 | 1600 | 6000
IHK9PG60-32 60 36220 60 550 | 3800 | 1600 | 1600 | 5000 10 | 10000

50 320 | 4500 | 1300 | 1600 | 6000
60 320 | 3800 | 1600 | 1600 | 5000 10 | 10000
50 290 | 4500 | 1300 | 1600 | 6000
IHK9PG60-3C 60 30415 60 590 | 3800 | 1600 | 1600 | 5000 10 | 10000
" 50 280 | 4500 | 1300 | 1600 | 6000
IHK9PG60-34 30440 50 280 | 3800 | 1600 | 1600 | 5000 10 | 10000

50 800 | 6800 | 1250 | 2000 | 8500
IHK9PG90-30 90 34200 60 800 | 5700 | 1500 | 2000 | 7000 10 | 10000

IHK9PG60-33 36380

50 730 | 6800 | 1250 | 2200 | 8500
IHK9PG90-32 90 36220 60 730 | 5700 | 1500 | 2200 | 7000 10 | 10000

50 420 | 6800 | 1250 | 2200 | 8500
IHK9PG90-33 34380 60 420 | 5700 | 1500 | 2200 | 7000 10 | 10000

50 390 | 6800 | 1250 | 2200 | 8500
IHK9PG90-3C 90 35415 60 390 | 5700 | 1500 | 2200 | 7000 10 | 10000

" 50 370 | 6800 | 1250 | 2200 | 8500
IHK9PG90-34 34440 60 370 | 5700 | 1500 | 2200 | 7000 10 | 10000

* MOTOR TYPE GEAR HEAD®&#H ! PINION# O 2 ForatlEHTh
STRAIGHT#f¢] MOTORE #AHstA I k#e] PFE SE vHo] st Al L.
- For motor with straight shaft, please write S in place of PF in MOTOR TYPE.

m RATED TORQUE OF GEARED MOTOR
[l—H J1¢] REVERSIBLE MOTOR ¢ 7Z+54th - Refer to the rated torque of reversible motor

= WIRING DIAGRAM

IHK9PF40-30 32  IHK9PGB0(90)-30 32 IHK9PF40-3C  IHK9PG60(90)-3C
oW T ocw
Ro Co Ro Co
R w Red R, Red
Cé ) ] oWhite | MOTOR 6 é ES O,{\,OH_OWhite MOTOR
T R _oBlack T LWV*—C‘: oBlack
o le) Po!
} o Orange : Orange
Swi ‘j o0range BRARE rm_;{isw [.H—Q—l— Ofane BRAKE
Ro C Ro G

- The direction of rotation is seen from the end of motor shaft
- To reverse the rotation of 3-phase motor, changr any two leads among three input leads


김영석
사각형


BOUTLINE DIMENSION
Fig.1 GEARED MOTOR

IHK9PF40 + 9HLIFB  WT MOTOR 2.9 kg GEAR 0.8/0.9kg

25

_______ ©
+—-—1tm
s

CIE

N

s

4-¢6.5
S
35

L, i BOLT

TYPE | wstre | - | ¥ | BoLT
mm Kg

OHOFM| 13-1/18 [ 42| 08 |M6x70

OH o FB |1/25-1/180/ 60 | 09 |M6%90

KEY SIZE

BOLT
TYPE BOLT
9HOGB | M6x95
9HLIGB-F | M6x25
KEY SIZE
. 5138
] 25 _i 5i>-u,u|p —-T——j*
C— 11 O €
I'_w_“
25 =
== | — —
E B —f— ——--e-— §
s d
= A
4-96.5 Motor Lead< 300mm )
7 6.5 % Brake Loadt! 300mm
30 38 65 183
25
s ArE—
B F=1] &
I
7 12 ’l§*
38 65




	BRAKE MOTOR 표지.pdf
	브레이크모터기술자료.pdf
	BRAKE MOTOR.pdf
	Woojin_B_6061.pdf
	Woojin_B_6263.pdf
	Woojin_B_6465.pdf
	Woojin_B_6667.pdf



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




